Optional Shaker Motor Installation Instructions

for Optional Shaker Motor Kit 502-5027-00

Kit Contents:

1. Shaker Motor Assembly with Harness Ref. Decal (1) (515-5893-01 + 820-6407-SM2) +Securing Hardware: #8-32 T-Nut (4) (240-5101-00) and

#8-32 X 5/8” SHWH Screw (4) (237-5975-03).

2. Cover with Warning Decal (1) (545-5241-00 + 820-6062-00) +Securing Hardware: #8-32 X 3/8” SHWH Screw (2) (237-5967-00).
3. Shaker Motor PC Board with Spacers (1) (520-5065-00 + 254-5007-01) Securing Hardware: #6 X 3/4” SHWH Screw (4) (234-5003-00).
4. This Installation Instruction Sheet (756-5027-00).
5. Installation Template (756-5027-00T). Tools Required:  Drill + 7/32” Drill Bit, 74 Nut Driver or Flat Head Screw Driv?/
Hammer and Scissors
([ EURReR ( /
S
\ \
|2 v 1 7/32" thu hole (4x).
A g%' 3 Install #8-32 T-Nut
O | &= 2 ~— 2.000" as shown (4x) on the
- Z| ] BOTTOM SIDE OF CABINET.
o - ] 2.875 When securing bracket with
ke 5 screws thru T-Nuts, hold T-Nut
. I U from the bottom to keep from
g " falling out until hardware
T a
|'T'| £ - IS tightened.
=5
Z SHAKER MOTOR MOUNTING HOLE SI;&I/'TING TEMPLATE
TO BE PLACED INSIDE CABINET FRONT LEFT
>
Procedure: PaN

Ensure Power is OFF while performing any task.

Step 1 Cut out Item 5. Template (756-5027-00T) included in kit. Lay template in front left cabinet
(left side of cash box). Reference A & B to align template to these edges.
Step 2 Drill four (4) 7/32" @ thru holes as shown using the cut-out

template as a guide.

Step 3 Tap in the four (4) #8-32 T-Nuts (included) | |

with a hammer from under the cabinet side as
shown. Reference D.

Step 4 Place ltem 1. Shaker Motor Assembly
in cabinet and align with holes drilled in Step 2.
Apply Loctite #243 (not included) to the four
(4) #8-32 X 5/8” Screws (included), and hand
start while holding the T-Nuts from below to
keep from getting pushed out. Once tightened,
the T-Nuts will draw tighter into cabinet.

Step 5 Install Item 3. Shaker Motor Board
(SM PCB) with four (4) #6 X 3/4” Screws
to side of cabinet. Reference E.

Step 6 Plug in 5-Pin Connector from Shaker
Motor into the SM PCB (J2). Find the 7-Pin
Connector (labeled to plug into Shaker Motor
Board) in cabinet (same area), plug into J1.

Step 7 Attach ltem 2. Cover with two (2)

#8-32 X 3/8” Screws (included). Reference F.

s

SUGGESTED:
Loctite #243
(not included)

for Step 4

| MOTOR WHILE POWER IS PN

SIDE VIEW

WARNING !!
' DO NOT PUT FINGERS NEAR

Instruction Sheet SPI Part Number: 756-5027-00




\ur) 1437 1NO¥4 13NIgVD 3AiISNI d3dVvVild 39 Ol
J1VIdINTL ONILLOdS 3T0OH 9NILNNOIN HO1LOIN ¥IMVHS
—
. 0
O 2833
8383 5
olg® N
Q In-v\..m 3
. D= 5. 2
‘VIAI w m T O Re
X {7} sEwey E
n PR 2
m © b - L o] &
T ac Ec =
gE2o0©® =
g es%
T -0 5 s
~ o = =
s g0« M
o 8%
N 58 /
m 7/
/
/
/
/
/
/
7/
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII —

¥8-00-1205-208S 31X 10}0j 49)eys jeuondQ 1o}

ajejdwa] uolje|jelsu] JOJo\ J9)eys jeuondo



**OPTIONAL** Shaker Motor Kit, 502-5027-00, (ltems 1-9)

Note the set screw tip
should go into the
divet on the motor shaft

X

M.P. #3811R

N
'

—_ A

502-5027-00 SHAKER MOTOR KIT
515-5893-01 SHAKER MOTOR ASM.

N — — —

535-6711-01
535-6711-02
535-6727-01 WEIGHT

041-5029-04 MOTOR
545-5425-00 INSULATOR
S.M. BRACKET
S.M. BRACKET LEG

237-5911-00 SET SCREW

545-5241-00 PLASTIC COVER

515-5742-00 S.M.PCB + SPACERS
756-5027-00 INSTRUCTION SHEET
756-5027-00T TEMPLATE

Click to view the

instructions and template online:
http://www.sternpinball.com/

756-5027-00.html

These 2 sheets are included in the kit.

Optional Shaker Motor Installation Template
fovr Oyptional Shaker Motor Kit 502-5027-00-84

Optional Shaker Motor Installation Instructions
for Oyt or Motor Kit 502-5077-60

SIDE OF CABINET
SIDE VIEW

= b
T

SHAKER MOTOR MOUNTING HOLE SPOTTING TEMPLATE
TO BE PLACED INSIDE CABINET FRONT LEFT

/32" THRU HOLE {4x).

Botiom of Template is edge of paper.

e/


http://www.sternpinball.com/756-5027-00.html

	756-5027-00
	Optional Shaker Motor Installation Instructions

	756-5027-00T
	Template




